
Select the Answer (​Answers​) 
 

Look at the picture, then select the correct answer in each sentence. 
 

 

 

 
1. There is / ​There are​ two butterflies.  
2. There isn’t / ​There aren’t ​two dogs.  
3. There is / ​There isn’t​ a sun.  
4. There are​ / There aren’t some flowers.  
5. There is / ​There isn’t​ a girl.  

 
 
 
 
 
 
 
 

Copyright © 2020 Virtually Fluent Ltd.  



 
 

1. There is ​/ There are one girl.  
2. There is / ​There are​ some cars.  
3. There isn’t / ​There aren’t ​some boys.  
4. There is / ​There isn’t​ a sun.  
5. There is / ​There are ​some houses.  
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1. There is / ​There are​ four mountains 
2. There is​ / There are one river 
3. There is /​ There isn’t​ a dog. 
4. There are ​/ There aren’t some trees. 
5. There isn’t / ​There aren’t​ any animals.  
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